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%1% F15 2019410H13H
1 KHEBA VS 3 RLELRA
H= A=
7 RUE RUE 7
I =i 7 AR 16 U % BaE
Eg : FRBEHH 78 LIRS B FFHE 7 : ZBNI
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [ri] 6S = -980 [ri] 4S +2 -480 11
> |mtl & | anT | 2 | 200] & | anT | -1 | -100 3
3 ,?ﬁ [£3] INT 1 -50 [£3] INT +1 120 5
4 E=] [ri] 3NT = -600 ® 3NT = -600
5 it x 2D -2 100 ® INT -1 50 2
6 panyiie] [ri] 1C -1 100 x 3S -1 100
7 PE=] 1t 4H +1 650 1t 4H +1 650
8 TS [£3] INT = 90 [£3] INT = 90
o |#wml|l &5 | 2s | +1 | 40| & | 3s | = | 140
10 | WHB x 3NT +1 -630 x 3NT = -600 1
11 | W 1t INT = 90 1t 1C +2 110 1
12 | Edb [ri] 4H -1 50 x 3NT = -400 10
13 |wsl & | aNT | +1 | 120 46 | 3D | = | 110 6
14 | W 1t 4Sx -4 -800 [£3] 4D -2 -100 12
15 gl & | a0 | = | 420 & | a0 | +1 | 450 | 1
16 ,?ﬁ [£3] 2S +2 170 1t 2NT +2 180
DATUMiT T
CiERA RUELFA Y. X+ 13 39
Z IR /TR -58 X2/ ER3H18 -41 Aait 13 | 39
Premim/Z0NI 41 KU =/ FPLT BR 58 V.P. 3.91 | 16.09
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%1% B2 K 20194E10H13H
2 16F VS 1 KIERA
A= =
16F KHEBA KIBA 16F
it : 8BRS X PFEE it =R R EXIE
i 74 : ZON B : IRt iy
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 3NT +3 490 1t ANT +1 460 1
2 it x 4S = -420 [ri] 2NT +1 -150 7
3 panyiie] [ri] 4C +1 -150 1t 5Sx -1 -100 2
4 WE=] 1t 4S +2 680 1t 3S +3 230 10
5 |l &/ | ANT | +1 | -120§ 7 | 3NT | -2 | 100 6
6 panyiie] [ri] 6S = -1430 7 6S = -1430
7 E=] [£3] 6H +1 1460 [£7] 7H = 2210 13
8 TS 1t 3H = 140 [ri] 3S = -140 7
9 panyiie] 1t 4H = 420 [£3] 4H +1 450 1
10 | WHB x 4S = -620 [ri] 2NT +1 -150 10
11 | WEl & 4s | +1 | 450 | 41t 4s | +1 | 450
12 | Edb x 3H = -140 x 2H +1 -140
13 | W/ x 2S -4 400 x 2S -3 300 3
14 | W [£3] 4H = 420 [£3] 4C -1 -50 10
15 | Edb [ri] 3H -2 100 x 3D +1 -130 6
16 | ZRFg [ri] 2H +2 -170 [ri] 5Hx -1 200 9
DATUM&iit iFE
16F K1EBA Z. X+ ] 37 | 48
BES R/ 19 Z IR /FrBEHH 21 ait 37 | 48
B/ Bt -21 B/ ZRNI -19 V.P. 6.96 | 13.04
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81k B3 20194E10H13H
3 RUERA VS 2 16F
H= S
RUEBA 16F 16F RUEBA
1t - U2 7 EYIE 16 : #834 75 $RLTER
5 Ff9E 7 BiEsE 2 7Y BES
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 3NT -2 -100 1t INT -2 -100
2 it x 4S +1 -450 x 58S = -450
3 panyiic] [£3] 4H -1 -50 [£3] 4H = 420 10
4 WE=] [£3] 4H = 620 ® 2D = -90 12
5 it [£3] INTX -1 -200 ® 4S = -420 6
6 panyiic] x 6NT -1 100 x 7C -1 100
7 E=] [£3] 2NT -2 -200 x 3NT -2 200 9
8 TS 1t 3NT +2 460 [£3] 3NT +1 430 1
9 panyiie] [£3] 3H +1 170 [£3] 2NT +1 150 1
10 | WHB [£3] 6S = 1430 [£3] 6S +1 1460 1
11 | W 1t 4H +1 450 1t 4H = 420 1
12 | Edb 1t 6HXx -2 -500 1t 5D +1 620 15
13 | W/ 1t 3NT -1 -100 1t INT +3 180 7
14 | W 1t 4S -1 -50 1t 3S +2 200 6
15 | gt & | 4Hx | -2 | 100 | 7® 2H | +1 | ;140 ] 6
16 | ZRFg [£3] 4S = 420 1t 4S = 420
DATUM&iit iFE
RUELPA 16F V. o] 27 48
X2/ EF3E 18 KBRS 39 ait 27 | 48
HETRR/RNS S -39 B IE/EEE -18 V.P. 481 | 15.19




